ANNEXURE - I KERALA STATE LOTTERIES

REVISED PRIZE STRUCTURE OF KARUNYA WEEKLY LOTTERY

(KR 491st Lottery onwards)

(Vide Order No.SLTY/172(6)/2021-S1 Dated: - 02.02.2021)

TOTAL: One Crore Eight Lakhs TICKETS TICKETS IN TWELVE SERIES

MRP OF TICKET :Rs.40/-ONLY (Face value 31.25+28% GST)

<u>DRAW ON EVERY SATURDAY</u>

Category of Prize	Details of Prize	Amt. of Prize	No. of Prizes	Total prize Amount(Rs)	Agents commission on Prize(Rs)
I	Common to all series	80,00,000	1	80,00,000	9,60,000
II	Common to all series	500.000	1	500.000	60.000
III	One prize in each series	1,00,000	12	1.200.000	144.000
IV	Last four digits to be drawn 18 times	5,000	Up to 19440	Up to 9,72,00,000	Up to 1,16,64,000
V	Last four digits to be drawn 10 times	2000	Up to 10800	Up to 2,16,00,000	Up to 25,92,000
VI	Last four digits to be drawn 14 times	1,000	Up to 15120	Up to 1,51,20,000	Up to 18,14,400
VII	Last four digits to be drawn 80 times	500	Up to 86400	Up to 4,32,00,000	Up to 51,84,000
VIII	Last four digits to be drawn 124 times	100	Up to 133920	Up to 1,33,92,000	Up to 26,78,400
CONSOL	ATION PRIZE	8000	11	88000	10560
TOTAL			265705	200300000	25107360

Total Collection - Rs.33,75,00,000/Total Prize Amount - Rs. 20,03,00,000/Total Agents Commission - Rs. 2,51,07,360/-

Agents Commission to be

Paid from Government fund - Rs. 2,39,43,360/-

(Fourth prize onwards)

(Sd/-) DIRECTOR OF STATE LOTTERIES

<u>ANNEXURE - II</u> KERALA STATE LOTTERIES

REVISED PRIZE STRUCTURE OF KARUNYA WEEKLY LOTTERY

(KR-491st Lottery onwards)
(Vide Order No.SLTY/172(6)/2021-S1 Dated: - 02.02.2021)

AGENTS COMMISSION TO BE PAID FROM GOVERNMENT FUND

Category of Prize	Amt. of Prize	No. of Prizes	Total prize Amount(Rs)	Agents commission on Prize(Rs)
IV	5000	Up to 19440	Up to 9,72,00,000	Up to 1,16,64,000
V	2000	Up to 10800	Up to 2,16,00,000	Up to 25,92,000
VI	1000	Up to 15120	Up to 1,51,20,000	Up to 18,14,400
VII	500	Up to 86400	Up to 4,32,00,000	Up to 51,84,000
VIII	100	Up to 133920	Up to 1,33,92,000	Up to 26,78,400
CONSOLATION	9000	11	99000	10560
	8000	265691	88000 19,06,00,000	23943360

(Sd/-)
DIRECTOR OF STATE LOTTERIES

ANNEXURE-III KARUNYA WEEKLY LOTTERY TERMS AND CONDITIONS

REVISED PRIZE STRUCTURE OF KARUNYA WEEKLY LOTTERY

(KR-491st Lottery onwards)

(Vide Order No.SLTY/172(6)/2021-S1 Dated: - 02.02.2021)

- 1. Tickets will be printed in **twelve** series.
- 2. The maximum retail price of one ticket will be **Rs.40**/-(Face value 31.25+28% GST) only. One book of tickets will contain twenty five tickets.
- 3. The first, second and third prizes will be drawn in full coming under the assured portion of prizes. The remaining prizes will be under variable portion depending upon the sale of tickets.
- 4. The consolation prizes of Rs.8,000/- each will be awarded to the tickets in other **eleven** series, having the same number of 1st prize winning number.
- 5. The fourth prize will be determined by drawing the last four digits **eighteen** times and extended to all sold tickets in all series.
- 6. The fifth prize will be determined by drawing the last four digits **ten** times and extended to all sold tickets in all series.
- 7. The sixth prize will be determined by drawing the last four digits **fourteen** times and extended to all sold tickets in all series.
- 8. The seventh prize will be determined by drawing the last four digits **eighty** times and extended to all sold tickets in all series.
- 9. The eighth prize will be determined by drawing the last four digits **one hundred** and twenty four times and extended to all sold tickets in all series.
- 10. If any prize numbers in any category is repeated the same will be cancelled and redrawn.
- 11. An amount equal to 12% of prize money will be deducted from 1st, 2nd and 3rd prizes and given as agents commission on prize to the agents concerned. An amount equivalent to 12% of the prize money on 4th to 7th prizes and consolation prize and also an amount equivalent to 20% of the prize money on 8th prize will be given to the agents concerned as agents commission on prize from Government fund.

12. (i) Registered agents will get the tickets at the following discounted rates, for the entire purchase irrespective of the district of purchase.

(a) Up to 2000 tickets - 76% of face value (b) 2001 to 8400 tickets - 75.25% of face value (c) Above 8400 tickets - 74.5% of the face value

- (ii) The highest eligible discounted rate will be allowed for the entire tickets purchased by an agency. The above mentioned discounted rate will be allowed based on the total purchase of tickets from the different District Lottery Offices/Lotery Sub offices. The dues or excess amount collected, if any, will be adjusted in future claims or by exchange of tickets of the next lottery ,as the case may be, from the office of registration./the corresponding lottery sub offices.
- 13. The prize winners shall prefer their claims within 30 days from the date of draw. First and second prize winning ticket should be surrendered to the Director of State Lotteries in person or by insured registered post or through Nationalised/ Scheduled Banks/ State or District Co-operative Banks supported with necessary documents.
- 14. The prizes of Rs.1,00,000/- and below may be claimed from the District Lottery Offices /Lottery sub offices. The prize winners of outside state of Kerala should present their prize claim of Rs.1,00,000/- and above beofore the Director of State Lotteries. The prize winners should record their name and signature in the space provided on the reverse side of the ticket. Payment of prize money will be made only after ascertaining the genuineness of the tickets with counterfoils or by any other method as decided by the Director from time to time.
- 15. Agents are allowed to collect prize tickets with prize money of Rs.5000/- and below and pay the prize money to the prize winners themselves and thereafter claim prize money on behalf of prize winners by exchange of tickets. The agents should clearly state whether the prize tickets are collected and prize money already paid to the prize winners by them, while presenting the same for payment.
- 16. Claims on mutilated or tampered tickets will be rejected outright. One ticket can win only the highest prize awarded on it. Income Tax and Surcharge etc. if any, will be deducted at source from the prize money as laid down in the Finance Act (Central).
- 17. Legal jurisdiction of this Lottery will be at Thiruvananthapuram.

(Sd/-)
DIRECTOR OF STATE LOTTERIES

GOVERNMENT OF KERALA Taxes (H) Department

NOTIFICATION

G.O(P) No.../2021/TD.

Dated, Thiruvananthapuram,

th February 2021.Makaram 1196.

S.R.O .No....../2021. - In exercise of the powers conferred by sub-rule (3) of Rule 3 of the Lotteries (Regulation) Rules, 2010, issued by the Government of India under sub-section (1) of section 11 of the Lotteries (Regulation) Act, 1998 (Central Act 17 of 1998), and in supersession of the notification issued under G.O.(P) No. 17/2020/TAXES dated 1st February, 2020 and published as S.R.O. No. 95/2020 in the Kerala Gazette Extraordinary No.352 dated 1st February, 2020 the Government of Kerala hereby notify the following information in respect of the *Karunya Weekly Lottery* to be organized by the Government of Kerala, namely:-

(a) Name of the lottery or lottery scheme : Karunya Weekly Lottery

(b) Maximum Retail Price of the lottery ticket : ₹40/- (Rupees Forty only)

(Face Value *₹31.25*+28% GST)

(c) Total number of tickets printed in case of paper lottery

: 1 crore and 8 lakh (One crore and eight lakh only)

(d) Gross value of the tickets printed : ₹33,75,00,000/-

(Thirty three crore seventy five lakhs only)

(e) Name or names of the distributors or selling agents with their addresses

and contact information

: Kerala State Lotttery Agents and Sellers' Welfare Fund Board.

Kerala State Lotttery Agents and Sellers' Welfare Fund Board Head Office, KSRTC Bus Terminal

Complex, 3rd Floor, Thampanoor,

Thiruvananthapuram-695 001.

(f) Prize structure : Tickets are issued in twelve series with

the prize structure stated in the Table

given below:

TABLE

Sl.No.	Categor	Details of Prize	Amt. of	No. of	Total prize	Agents
S1.1 10.	y of	Details of Tile	Prize(₹)	Prizes	Amount(₹)	commission on
	Prize			111203	/ mount(\)	Prize(₹)
1	I	Common to all				11120(\)
1	1		00 00 000	1	00 00 000	0.60.000
		series	80,00,000	1	80,00,000	9,60,000
2	II	Common to all				
		series	500.000	1	500.000	60.000
3	III	One prize in				
		each series	1,00,000	12	1.200.000	144.000
4	TX7		1,00,000			
4	IV	Last four digits		T T 4	TT. 4	T T 4
		to be drawn 18		Up to	Up to	Up to
		times	5,000	19440	9,72,00,000	1,16,64,000
5	V	Last four digits				
		to be drawn 10		Up to	Up to	Up to
		times	2000	10800	2,16,00,000	25,92,000
6	VI	Last four digits				
		to be drawn 14		Up to	Up to	Up to
		times	1,000	15120	1,51,20,000	18,14,400
7	VII	Last four digits				
,	, 11	to be drawn 80		Up to	Up to	Up to
		times	500	86400	4,32,00,000	51,84,000
8	VII	Last four digits	300	00400	7,52,00,000	31,07,000
0	V 11			IIm 4c	Um 40	II 40
		to be drawn 124	100	Up to	Up to	Up to
		times	100	133920	1,33,92,000	26,78,400
	CONSOL		8000	11	88000	10560
	TOTAL			265705	200300000	25107360

(g) Amount offered as prize money : ₹20,03,00,000/-

(Rupees Twenty crore and three lakh only)

(h) Periodicity of the draw : Every Saturday (Except National Holidays)

(i) Place where the draw shall be conducted

: Thiruvananthapuram or any other places in the State

(j) The procedure for drawing the prize winning tickets or prize winners

The Government appoints a panel of judges and the draws are conducted under the supervision of the panel. The panel selects one among them as Chairman/Chairperson. The draw is conducted by operating the draw machine based on random technology or in thecase of contingency, using drums and coins, as the case may be.

The draw shall be commenced only after convincing the panel of judges and spectators about the *modus operandi* of the draw machine. All the spectators shall be convinced that all digits/alphabet representing ticket number and series respectively are stuck on the wheel fixed on the shaft by manually rotating it. A digital photograph will be taken along with the recording of the draw process using a digital camera or a suitable device. The draw machine will be operated by pressing the switch. The motor will be operated for five seconds for drawing every single prize number/numbers. The prize winning ticket is taken after pressing the switch by the members of the panel of Judges or the public. Then the disk engraved / stuck with series and digits rotates and come to a stand still when a particular number appears on the slots provided for the display of selected prize numbers. All other prizes are also drawn in the similar manner based on the prize structure of the lottery. For selecting the consecutive prize numbers, all other windows except the one which is to be used for selecting a particular prize number / numbers shall be covered by shutters. Prizes shall be drawn either in the ascending or descending order. When a prize number is selected, the officer in charge of declaring the result should announce the number. The personnel deputed from the Department of Lotteries shall then verify whether the drawn number is sold or unsold. If the selected number is unsold the draw procedure of that particular number will be repeated till a new number is exposed in the windows. If any number is found repetitive that number will invariably cancelled and draw will be repeated. On announcing the prize number the officer in charge of documenting the prize number shall

document this in a prize register and Judges will subsequently verify this by according their signature on it. When the draw is completed the prize register thus prepared will be authenticated by every Judge present at the draw of the Lottery.

In case of any contingency, such as technical error in draw machines or shortage of draw machine are occurred, the method of draw using drums and coins, as described below shall be used:

There shall be seven rotatable drums, which is operated by the staff of the Lotteries Department. The First drum represents the series of lottery, and the rests represent the digits from lakhs to units. Plastic tokens engraved with series, for eg.) KA, KB, KC, KD, KE, KF, KG, KH, KJ, KK, KL,KM shall be deposited in the series drum and similar tokens engraved with the digits 0-9 shall be deposited in the other drums. All the tokens shall be concealed in plastic purses which can be opened with hand. Before the beginning of the draw, the Judges shall inspect the empty drums, purses and the tokens. The tokens shall then be thrust into the plastic purses and deposited into the drums one by one . Then all the drums shall simultaneously be rotated so that the tokens in plastic purses may get shuffled within the drums. The drums shall be operated by persons duly authorised by the Director of State Lotteries. Thereafter, the Chairman shall open the drums after removing the lid and take one token from the purse and show it to the audience. It shall be recorded in the display board as well as in the register kept by the Lotteries Department which shall be attested by the panel of Judges.

Accordingly a series with six digit numbers shall be formed and announced as prize winning number. Based on the prize structure of the lottery the remaining other prizes are also drawn in the similar manner.

By order of the Governor,
.....,
Secretary to Government.

Explanatory Note

(This does not form part of the notification, but is intended to indicate its general purport.)

As per sub-rule (3) of Rule 3 of the Lotteries (Regulation) Rules ,2010 issued by the Government of India as G.S.R. 278 (E) dated 1st April, 2010 published in Part II , Section 3(i) of the Gazette of India Extraordinary dated the 1st day of April, 2010 , the lottery organizing State shall announce in advance by way of a notification in its Official Gazette, the information , the name of lottery, price of lottery ticket, total number of tickets printed etc. as prescribed in the said Rule The Government of Kerala have decided to announce the above information , as modified, in respect of the Karunya Weekly Lottery and to issue notification for the purpose by superseding earlier notification issued under G.O.(P) No. 17/2020/TAXES dated 1st February, 2020 and published as S.R.O. No. 95/2020 in the Kerala Gazette Extraordinary No.352 dated 1st February, 2020

This notification is to achieve the above object.